Name::

p (Estimating Quotient - MCQ) sheet 3
1) Which one will provide the reasonable estimate for 92.37 + 4.18?
a) 93+4 b) 92=:4 c) 93=5 d 92+5
2)  Which one will provide the reasonable estimate for 68.25 + 2.12?
a) 692 b) 69+3 ) 68+2 d 68+3
3)  Which one wi PRE V IEW -7.997
a) 32=8 32+7
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4)  Which one wi - 5.847
a) 79+6 78+ 6
5)  Which one wi -5.167
a) 44-+5 45+ 6
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6)  Which one will provide the reasonable estimate for 54.49 + 9.02?
a) 54+9 b) 55+9 ¢ 54+10 d 55+10
7)  Which one will provide the reasonable estimate for 62.58 + 6.72?
a) 63+6 b) 62=7 c) 63=7 d 62+6
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